BANK BRADESCO Form 6-K October 10, 2018

UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of October, 2018 Commission File Number 1-15250

BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

BANK BRADESCO

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-FX Form 40-F
Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.
Yes NoX

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In September 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family

(x) Controller's

Dependants

Openning Balance

•	J	% of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares	Total				
Common Shares	2,477,216,477	73.7282	36.8641				
Non-Voting Shares	75,799,591 2.2559		1.1279				
Closing Balance							
	% of participation						
Type of Securities/Derivatives	Quantity	Same type of Shares	Total				
Common Shares Non-Voting Shares	2,477,216,477 75,799,591	73.7282 2.2559	36.8641 1.1279				

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In September 2018 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bra	idesco S.A.						
Group and Family Dependants	(x)Board of Directors	() Board of Executive Officers	() Audit Committee	() Technical and Advisory Agencies			
		Openning Ba	iance	0/ - f	- 4!		
				% of participation	ation		
Type of S	Securities/Derivativ	res	Quantity	Same type of Shares	Total		
Co	mmon Shares		18,362,731	0.5465	0.2732		
Non	-Voting Shares		33,902,253	1.0090	0.5045		
Closing Balance							
				% of participation	ation		
Type of S	Securities/Derivativ	res	Quantity	Same type of Shares	Total		
Co	mmon Shares		18,362,731	0.5465	0.2732		
Non	-Voting Shares		33,902,253	1.0090	0.5045		

Company: Bradesco Group and Family Dependants	Leasing S.A. Arr (x)Board of Directors	endamento Mer () Board of Executive Officers Openning Ba	() Audit Committee	()	() Technical and Advisory Agencies		
					% of partici	pation	
Type of S	ecurities/Derivativ	res .	Quantity		e type of hares	Total	
	mmon Shares -Voting Shares			0	0.0000 0.0000	0.0000 0.0000	
Closing Balance							
					% of participation		
Type of S	ecurities/Derivativ	res	Quantity		e type of hares	Total	

Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In September 2018 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.								
Family '	()Board of (X) Board of Executive () Audit			() Technical and Advisory Agencies				
20p0::uu::t0			Opennin	g Balance				
Type of Securities/Derivatives			Quan	tity	% of partic Same type of Shares	ipation Total		
	Common	Shares				59,898		0.0008
	Non-Votin	g Shares			2	,567,320	0.0764	0.0382
			Month M	lovement				
Type of Securities/Derivative	es Broker	Ope	ration	Day	Quantity	Price	Value ir	ı R\$
Non-Voting Shares		Sell		12-Sep	9,380	28.00	262,640	0.00
Non-Voting Shares		Sell		19-Sep	685	29.00	19,865	.00
Non-Voting Shares		Sell		17-Sep	1,000	28.20	28,200	.00
Non-Voting Shares		Sell		17-Sep	1,000	28.25	28,250	.00
Non-Voting Shares		Sell 4-		4-Sep	700	27.98	19,586	.00
Non-Voting Shares		Sell		17-Sep	88	28.58	2,515.04	
Non-Voting Shares	Bradesco S.A.	Sell		17-Sep	600	28.60	17,160	.00
Non-Voting Shares	C.T.V.M.	Sell		11-Sep	55	27.53	1,514.	15
Non-Voting Shares		Sell		11-Sep	19	27.58	524.0)2
Non-Voting Shares		Sell		11-Sep	1,300	27.59	35,867	.00
Non-Voting Shares		Sell		3-Sep	700	27.92	19,544	.00
Non-Voting Shares		Sell		3-Sep	69	28.21	R\$ 1,946.	49

Non-Voting Shares	Sell	3-Sep	700	28.12	R\$ 19,684.00
Non-Voting Shares	Sell	4-Sep	78	27.58	R\$ 2,151.24